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1. The sum of the series 1.32 + 2.52 + 3.72 + ... upto 20 terms is

a)188090 b)189080 c) 199080 d)199089

2. If 
𝑎𝑏 + 𝑐,

𝑏𝑐 + 𝑎,
𝑐𝑎 + 𝑏 are in AP, then

a)𝑎,𝑏,𝑐 are in AP b)𝑐,𝑎,𝑏 are in AP c) 𝑎2,𝑏2,𝑐2 are in AP d)𝑎,𝑏,𝑐 are in GP

3. The sum of 𝑛 terms of two arithmetic series are in the ratio 2𝑛 + 3:6𝑛 + 5, then the 

ratio of their 13th terms is

a)53:155b) 27:87c) 29:83d) 31:89

4. If 
𝑥 + 𝑦

1 ― 𝑥𝑦,𝑦, 𝑦 + 𝑧
1 ― 𝑦𝑧 be in A.P., then 𝑥,1𝑦,𝑧 will be in

a)A.P. b)G.P. c) H.P. d)None of these

5. 𝑥 + 𝑦 + 𝓏 = 15, if9,𝑥, 𝑦, 𝓏, 𝑎 are in AP, while 
1𝑥 +

1𝑦 +
1𝓏 =

5

3
, if 9,𝑥, 𝑦, 𝓏, 𝑎 are in HP, then value of 𝑎 

will be 

a)1 b)2 c) 3 d)9

6. If 𝑎,𝑏 and 𝑐 are in AP, then which one of the following is not true?

a)
𝑘𝑎,

𝑘𝑏and
𝑘𝑐 are in HP b)𝑎 + 𝑘,𝑏 + 𝑘 and 𝑐 + 𝑘 are in AP

c) 𝑘𝑎,𝑘𝑏and𝑘𝑐 are in AP d)𝑎2,𝑏2 and 𝑐2 are in AP

7. The value of (0.16)
log2.5(

1

3
+

1

32
+

1

33
+ …to ∞)

 is

a)0.16 b)1 c) 0.4 d)4

8. If 
3 + 5 + 7 + … + 𝑛 terms

5 + 8 + 11 + … + 10 terms
= 7, then the value of 𝑛 is

a)35 b)36 c) 37 d)40

9. The sum of the series 1 +
1 + 2

2 !
+

1 + 2 + 22

3 !
+

1 + 2 + 22 + 23

4 !
+…, is

a) 𝑒2 b)𝑒2 +𝑒 c) 𝑒2 ―𝑒 d)𝑒2 ―𝑒 ― 1
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10. If 𝑎1,𝑎2,….𝑎50 are in GP, then 
𝑎1 ― 𝑎3 + 𝑎5 ― ... + 𝑎49𝑎2 ― 𝑎4 + 𝑎6 ― ... + 𝑎50

 is equal to

a)0 b)1 c)
𝑎1𝑎2

d)
𝑎25𝑎24

11. If 𝑎, 𝑏, 𝑐, 𝑑 are in HP, then 

a)𝑎 + 𝑏 > 𝑏 + 𝑐 b)𝑎𝑑 > 𝑏𝑐 c) Both (a) and (b) d)None of these

12. If the sum of the series 1 +
3𝑥 +

9𝑥2 +
27𝑥3 +…to ∞ is a finite number, then

a) 𝑥 < 3 b)𝑥 >
1

3
c) 𝑥 <

1

3
d)𝑥 > 3

13. Consider the following statements :

1.1+3+5+… upto𝑛 terms = 𝑛2

2.2+4+6+… upto𝑛 terms = 𝑛2 +1

Which of the statement given above is/are correct?

a)Only (1) b)Only (2) c) Both (1) and (2) d)Neither (1) nor (2)

14. If 9𝑎2 +4𝑏2 = 18𝑎𝑏, then log(3𝑎 + 2𝑏) =

a) log 5 + log 3 + log 𝑎 + log5𝑏
b) log 5 + log 3 + log 3𝑎 + log 𝑏
c) log 5 + log 𝑎 + log 𝑏
d)None of these

15. If 𝑆 = ∑∞𝑛=1 (
𝑛𝐶0 + 𝑛𝐶1 + 𝑛𝐶2 + … + 𝑛𝐶𝑛𝑛𝑃𝑛 ), then 𝑆 equals

a) 2 𝑒 b)2 𝑒 ― 1 c) 2 𝑒 + 1 d)None of these

16. The number of divisors of 3 × 73, 7 × 112 and 2 × 61 are in

a)AP b)GP c)HP d)None of these

17. If 
1𝑎 +

1𝑐 +
1𝑎 ― 𝑏 +

1𝑐 ― 𝑏 = 0 and 𝑏 ≠ 𝑎 + 𝑐, then 𝑎,𝑏,𝑐 are in

a)G.P. b)H.P. c) A.P. d)None of these

18. If the sum of two extreme numbers of an AP with four terms is 8 and product of remaining two 

middle terms is 15, then greatest number of the series will be

a)5 b)7 c) 9 d)11

19. The sum of the series 
1

1 + 2
+

1

2 + 3
+

1

3 + 4
+… +

1𝑛2 ― 1 + 𝑛2 equals

a)
2𝑛 + 1𝑛 b)

𝑛 + 1𝑛 + 𝑛 ― 1
c)

𝑛 + 𝑛2 ― 1

2 𝑛 d)𝑛 ― 1

20. If 𝑥,𝑦,𝑧 are positive integers, then (𝑥 + 𝑦)(𝑦 + 𝑧)(𝑧 + 𝑥) is

a) = 8 𝑥𝑦𝑧 b) > 8 𝑥𝑦𝑧 c) < 8 𝑥𝑦𝑧 d)None of these
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